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each of the following statements is True/False then correct the false part:

hining are the conversion costs when the cost driver is quantity produced. ( \’ti'“"'*—
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£ ABC company uses the Normal costing system for 2021 with two direct cost pools for materlal ans

/ndirect cost pool and direct labor costs as the cost allacation hage. The company had no finished £
/'fgpoglrg;ihr following Information was known about the firm for 2021
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/ [_‘D_.-‘_g.pv_m___ ] _Amount (S) | Deseription Amount (3)
{ Budgeted material costy 1000 " Actual material costs 900
Fi t ’ . = TV .
__Budgeted labor costs | 4000 | Actual labor costs 3600
, . q T - AT
/ Budgeted overhead costs | 3000 Actual overhead costs 2500
Budgetedlabor hours | 200 | Actualtaborhours 1180
There was no work In process on Jan. 2021 and there wete two [obs/batches in process on Dec., 31, 2021
Description - Batch A Batch B
__Direct material costs (5} 25 15
Direct “‘bE'_S‘-“";"__lf‘l | 20 32
Calculate:
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3. Caleulate the selling price. (Answer: ‘ ‘ - |
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Detaihy “Amount___|
'105 million §
L9 million §
5 million §
20 million $
9. million $
6 million §
1 million §
10.million $
80 million $
{10 million §
2108
iteost | 392 million § |
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ocated design costs to serve sales are regarded as indirect period costs. (<< ---fé'!ﬁl“-':-----—-)

9. Fire insurance costs on factory buildings are considered direct and fixed costs. (ﬂ“ﬁé:{--

10. Shipping costs of services to customers are charged as n
: M d“'f--" 3““01}(:-\7' ey 1
Q (6 pts) ABS manufactures mechanical parts in a fully automated machine
‘parts per month. The machine costs 15.000 and is depreciated using straight-line deprecia

assuming zero residual value. Rent and otherfixed manufacturing overhead cost total $3
currently makes and sells 2,000mechanical parts per mont

ABS manufacture expects demand to increase by 200%.
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Detalls Amount | |

100 million § !

96 million §
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10 million § |
80 million§_ |
10 million§ |
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